Create Event Design 10621 Midway Ave.		ORDER #005710
Cerritos, CA 90703 (562) 474-8222		MACRO 6255 W. Sunset Blvd, Suite 1400 Los Angeles, CA 90028
01/18/2025 12:00 PM Load Trailer - LA to Utah 01/19/2025 07:00 PM Crew Arrival - Park City 01/20/2025 08:00 AM Install - Day 1	PO : Macro - Sundance 2025 Shipping Address: Downstairs: 625 Main St., Park City, UT 84060	Order Date: October 21, 2024 Due Date: Upon Receipt
01/21/2025 09:00 AM Install - Day 2 01/22/2025 09:00 AM Install - Day 3 Marshall Walk Through 01/23/2025 08:00 AM Event Day - 01/23 to 01/26 - (Stand By Crew) 01/27/2025 09:00 AM Strike - Load Trailer - Utah to LA 01/28/2025 09:00 AM Trailer Arrives to LA	Extended Rentals - 01/17 to 01/28	

Description		Qtty	Price		Total
General					
	LED Bar - Uplight	2	\$0.00	Т	\$0.00
	Vinyl Bar Front 23' x 32"h With Lamination *	1	\$485.00	Т	\$485.00
	Hard Set Wall - 9' x 4" x 86"h Behind Bar Flame Retardant Coating on Wood*	1	\$700.00	Т	\$700.00
	Hard Set Wall - 11' x 8'h BOH w. Door Flame Retardant Coating on Wood*	1	\$900.00	Т	\$900.00
	Hard Set Wall - 10' x 87"h "Stay Macro" Flame Retardant Coating on Wood*	1	\$750.00	Т	\$750.00
	Hard Set Walls - ~ 31' x 5'10" Stage Walls Flame Retardant Coating on Wood*	1	\$2,700.00	Т	\$2,700.00
	Hard Set Wall - 13' x 9'h Double Sided Free Standing Arhaus Wall Flame Retardant Coating on Wood*	1	\$2,400.00	Т	\$2,400.00
	Ghost Dining Chair, Amber	40	\$10.50	Т	\$840.00
	DJ Booth - TBD	1	\$250.00	Т	\$500.00
			Total Gene	eral	\$9,275.00
Section 1					
	Belgrad Side Table	5	\$85.00	Т	\$850.00
0 0 0	Zelda Sectional - 3pc Set Camel Velvet Sourcing - Confirm by 01/16 *	1	\$1,950.00	Т	\$3,900.00

Description		Qtty	Price		Total
			Total Section	on 1	\$4,750.0
Section 2					
	Fabric Cover - 5' Benches Boucle Fabric *	2	\$125.00	Т	\$250.00
	Celine Ottoman, Taupe	3	\$55.00	Т	\$330.0
	Ottoman Cover Vanilla Vegan Leather	3	\$65.00	Т	\$195.00
	Layton Accent Chair - Off White W. Wooden Legs Sourcing - Confirm by 01/15 *	1	\$250.00	Т	\$500.0
70-1	Brown Teak Live Edge Coffee Table - Brown W. Black Legs Sourcing - Confirm by 01/15 *	1	\$175.00	Т	\$350.00
	Brown Teak Stump Accent Table Sourcing - Confirm by 01/15 *	1	\$125.00	Т	\$250.00
			Total Section	on 2	\$1,875.00
Section 3					
	Celine Ottoman, Taupe	3	\$55.00	Т	\$330.00
	Ottoman Cover Vanilla Vegan Leather	3	\$65.00	Т	\$195.00
	Fabric Cover - Existing "C" Sofa Boucle Fabric *	1	\$600.00	Т	\$600.00
T	Live Edge Top Accent Table - Brown W. Black Legs Sourcing - Confirm by 01/15 *	2	\$125.00	Т	\$500.00
			Total Section	on 3	\$1,625.00
Section 4					
	Wool Poof - Off White Sourcing - Confirm by 01/15 *	3	\$95.00	Т	\$570.00
	Accent Table	1	\$125.00	Т	\$250.00
			Total Section	on 4	\$820.00
Section 5					

Description		Qtty	Price		Total
	Dawson Sofa - Beige Faux Fur Sourcing - Confirm by 01/16 *	2	\$650.00	Т	\$2,600.00
	Coffee Table - Live Edge Brown Wood Sourcing - Confirm by 01/15 *	2	\$175.00	Т	\$700.00
	Ottoman - 36" Rnd	1	\$125.00	Т	\$250.00
	Reupholster 36" Ottoman -	1	\$95.00	Т	\$95.00
	Celine Ottoman, Taupe	8	\$55.00	Т	\$880.00
	Ottoman Cover Vanilla Vegan Leather	8	\$65.00	Т	\$520.00
	Antler Chandelier	1	\$275.00	Т	\$550.00
	Brown Teak Stump Accent Table Sourcing - Confirm by 01/15 *	4	\$125.00	Т	\$1,000.00
			Total Section	on 5	\$6,595.00
Section 6					
	Bench - Gold Frame Sourcing - Confirm by 01/15 *	2	\$225.00	Т	\$900.00
	Reupholster Bench - Faux Fur	2	\$175.00	Т	\$350.00
	Celine Ottoman, Taupe	2	\$55.00	Т	\$220.00
	Ottoman Cover Vanilla Vegan Leather	2	\$65.00	Т	\$130.00
Tor	Brown Teak Live Edge Coffee Table - Brown W. Black Legs Sourcing - Confirm by 01/15 *	1	\$175.00	Т	\$350.00
	Layton Accent Chair - Off White W. Wooden Legs Sourcing - Confirm by 01/15 *	2	\$250.00	Т	\$1,000.00
			Total Section	on 6	\$2,950.00
Bar Area					
A	Wired Barstool, Gold	6	\$25.00	Т	\$300.00
A	Hawaii Cocktail Table, Black	3	\$85.00	Т	\$510.00

Description		Qtty	Price		Total
			Total Bar A	rea	\$810.0
Hardware/Misc	2.				
	Plastic Wrap	1	\$0.00	Т	\$0.0
	Ladder - 6ft	3	\$0.00	Т	\$0.0
	Compressor w. Staples	1	\$0.00	Т	\$0.0
	Black Scuba Fabric	1	\$0.00	Т	\$0.0
	Screws	1	\$0.00	Т	\$0.0
	Flame Retardant - WT-102	1	\$0.00	Т	\$0.0
	Cleaning Supplies	1	\$0.00	Т	\$0.0
	Boucle Fabric	1	\$0.00	Т	\$0.0
	Dimmer	1	\$0.00	Т	\$0.0
	Extension Cord	1	\$0.00	Т	\$0.0
	Gaff Tape	1	\$0.00	Т	\$0.
	Wood Working - Tools	1	\$0.00	Т	\$0.
	Sand Bags	1	\$0.00	Т	\$0.0
	Triangle Bases	1	\$0.00	Т	\$0.0
	Gold Sign Holders	6	\$0.00	Т	\$0.
		То	tal Hardware/Mi	SC.	\$0.
Services					
	Trucking Fee - Round Trip 53' Dry Van Trailer	1	\$6,250.00	Т	\$6,250.0
	Truck Rental + Storage Space Monday, 01/20 to Monday, 01/27	1	\$1,750.00		\$1,750.0
	Car Rental - Employee Transportation Monday, 01/20 to Monday, 01/27	1	\$1,250.00		\$1,250.0
	Travel Fee - LA to Utah (5) Install (2) Strike	7	\$320.00		\$2,240.
	Travel Fee Utah to LA (3) Install (4) Strike	7	\$320.00		\$2,240.
	Install Crew - Day 1 Monday - 01/20	5	\$320.00		\$1,600.
	Install Crew - Day 2 Tuesday - 01/21	5	\$320.00		\$1,600.
	Install Crew - Day 3 Wednesday - 01/22	5	\$320.00		\$1,600.

Description		Qtty	Price	Total
	Standy Crew - 4 Days 2 Guys Thursday 01/23 through 01/26	8	\$560.00	\$4,480.00
	Per Diem Standy By Crew (\$782 x 2) Install/Strike Crew (\$575 x 3)	1	\$3,128.00	\$3,128.00
	Crew Lodging - Pending Confirmation 01/19 through 01/27	1	\$4,369.00	\$4,369.00
	Flights - Install Crew Round Trip	1	\$2,300.00	\$2,300.00
	Flights - Standby Crew Round Trip	1	\$1,475.00	\$1,475.00
	Flights - Strike Crew Round Trip	1	\$1,444.00	\$1,444.00
	Round Trip Flight - Site Walk Through	1	\$809.00	\$809.00
	Pre-Production Site Walk Through / Diagrams / Samples	1	\$950.00	\$950.00
	1.5% W.C. Fee	1	\$1,000.14	\$1,000.14
	3.5% CC Fee	1	\$2,467.68	\$2,467.68

Notes

Total Products:	\$28,700.00
Total Labor/Services/Misc:	\$40,952.82
Taxes :	\$3,320.25
Discounts:	(\$0.00)
Total:	\$72,973.07
Payments:	(\$0.00)
Balance:	\$72,973.07